Week 11
Tuesday 2nd June 2020
Year 5- Varied fluency
Click on this link for revision: https://www.bbc.co.uk/bitesize/articles/z6vr47h
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Add More Than 4-Digits

Add More Than 4-Digits

1a. Use the place value counters fo add
the numbers below.

1b. Use the place value counters fo add
the numbers below.
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2a. True or false? 2b. True or false?
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3a. Solve the addition calculations below.
1,000 100 105 15

3b. Solve the addition calculations below.
10005 1005 105 1s 10005 1005 105 15
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4a. Complete the bar models below. | 4b. Complete the bar models below.
? 2
A A
5,367 1834 8,349 1,551
8,196 3,422 213 6,388
5 5.
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Add More Than 4-Digits

Sa. Use the place value counters fo add
the numbers below.

5b. Use the place value counters o add
the numbers below.
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7a. Solve the addition calculations below.
)44058 + 13,239 =

7b. Solve the addition calculations below.
i) 8329141290+ 11821 =

ii) LIRALITIR) i) 291 6 8
? ?
41,234 15,801 32,347 2,346 47,035
B 12,096 | 24,938 75422 N 27,190 16,413
? ?
% %
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Add More Than 4-Digits

9a. Use the place value counters fo add
the numbers below.

9b. Use the place value counters o add
the numbers below.
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10a. True o false?

59,276 + 8,095 + 47,488 = 136,859

k54

106, True or false?

7,738 + 90,843 + 54,137 = 152,918

kg

11a. Solve the addifions shown below.
)8,008 + 41,299

i) 6908 4

11b. Solve the addifions shown below.
1)36,783 + 4,035 + 16,808 =

79979
508

h%4

120. Complele the bar models below.

12b. Complete the bar models below.
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